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Ten persons are sitting in two parallel rows containing five
persons each, in such a way that there is equal distance between
adjacent persons. In row-1 J, K, L, M, and N are seated (no
necessarily in the same order) and all of them are facing South. In
row-2 V, W, X, Y, and Z are seated (not necessarily in the same
order) and all of them are facing North. Therefore, in the given
seating arrangement each member seated in a row faces another
member to the other row. Z sits third to the right of W. V sits
second to the left of Z. The person facing V sits to the immediate
right of K. Only one person sits between K and M. J is not an
immediate neighbor of K. Only two people sit between J and L.
Neither K nor J faces Y.
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Ten persons are sitting in two parallel rows containing five
persons each, in such a way that there is equal distance between
adjacent persons. In row-1 J, K, L, M, and N are seated (no
necessarily in the same order) and all of them are facing South. In
row-2 V, W, X, Y, and Z are seated (not necessarily in the same
order) and all of them are facing North. Therefore, in the given
seating arrangement each member seated in a row faces another
member to the other row. Z sits third to the right of W. V sits
second to the left of Z. The person facing V sits to the immediate
right of K. Only one person sits between K and M. J is not an
immediate neighbor of K. Only two people sit between J and L.
Neither K nor J faces Y.

Who amongst the following is facing N?
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Ten persons are sitting in two parallel rows containing five
persons each, in such a way that there is equal distance between
adjacent persons. In row-1 J, K, L, M, and N are seated (no
necessarily in the same order) and all of them are facing South. In
row-2 V, W, X, Y, and Z are seated (not necessarily in the same
order) and all of them are facing North. Therefore, in the given
seating arrangement each member seated in a row faces another
member to the other row. Z sits third to the right of W. V sits
second to the left of Z. The person facing V sits to the immediate
right of K. Only one person sits between K and M. J is not an
immediate neighbor of K. Only two people sit between J and L.
Neither K nor J faces Y.

Which of the following statements is true regarding M?

1. M faces one of the immediate neighbors of X
2. K is one of the immediate neighbors of M

3. None of the given statement is true

4. L sits to the immediate right of M

S. All of the given statements are true

«74 @Reasoningbybasantsir
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Ten persons are sitting in two parallel rows containing five
persons each, in such a way that there is equal distance between
adjacent persons. In row-1 J, K, L, M, and N are seated (no
necessarily in the same order) and all of them are facing South. In
row-2 V, W, X, Y, and Z are seated (not necessarily in the same
order) and all of them are facing North. Therefore, in the given
seating arrangement each member seated in a row faces another
member to the other row. Z sits third to the right of W. V sits
second to the left of Z. The person facing V sits to the immediate
right of K. Only one person sits between K and M. J is not an
immediate neighbor of K. Only two people sit between J and L.
Neither K nor J faces Y.

Who amongst the following is facing X?

~

1.
2. L
3. M
4.
S.

A |
None of these



«74 @Reasoningbybasantsir

Ten persons are sitting in two parallel rows containing five
persons each, in such a way that there is equal distance between
adjacent persons. In row-1 J, K, L, M, and N are seated (no
necessarily in the same order) and all of them are facing South. In
row-2 V, W, X, Y, and Z are seated (not necessarily in the same
order) and all of them are facing North. Therefore, in the given
seating arrangement each member seated in a row faces another
member to the other row. Z sits third to the right of W. V sits
second to the left of Z. The person facing V sits to the immediate
right of K. Only one person sits between K and M. J is not an
immediate neighbor of K. Only two people sit between J and L.
Neither K nor J faces Y.

What is the position of Z with respect to Y?

1. Third to the right
2. Second to the right
3. Immediate left

4. Immediate right

S. None of these
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Ten persons are sitting in two parallel rows containing five
persons each, in such a way that there is equal distance between
adjacent persons. In row-1 J, K, L, M, and N are seated (no
necessarily in the same order) and all of them are facing South. In
row-2 V, W, X, Y, and Z are seated (not necessarily in the same
order) and all of them are facing North. Therefore, in the given
seating arrangement each member seated in a row faces another
member to the other row. Z sits third to the right of W. V sits
second to the left of Z. The person facing V sits to the immediate
right of K. Only one person sits between K and M. J is not an
immediate neighbor of K. Only two people sit between J and L.
Neither K nor J faces Y.

Four of the following five are alike in a certain way and so form a
group, find the one which does not belong to the group.
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There are eight cars A, B,C, D, E, F, G, and Hin a
park within a certain distance. Car A is 8km to the
east of Car B, which is 9km north of Car D. Car C
is Skm to the south of Car F, which is 6km to the
west of Car G. Car G is 4km to the north of Car A.
Car E is 8km to the west of Car C. Car H is 2km to

the south of Car E.
Teh UTeh | Ueh M@ gl @t A8 & A, B, C, D, E, F,
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There are eight cars A, B,C, D, E, F, G, and Hin a
park within a certain distance. Car A is 8km to the
east of Car B, which is 9km north of Car D. Car C
is Skm to the south of Car F, which is 6km to the
west of Car G. Car G is 4km to the north of Car A.
Car E is 8km to the west of Car C. Car H is 2km to
the south of Car E.

Car G is in which direction with respect to Car C?
1. North

2. South

3. East

4. South-West

S. North-East
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There are eight cars A, B,C, D, E, F, G, and Hin a
park within a certain distance. Car A is 8km to the
east of Car B, which is 9km north of Car D. Car C
is Skm to the south of Car F, which is 6km to the
west of Car G. Car G is 4km to the north of Car A.
Car E is 8km to the west of Car C. Car H is 2km to
the south of Car E.

Car F is in which direction with respect to Car A?
1. West

2. North

3. East

4. North-West

S. North-East
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There are eight cars A, B,C, D, E, F, G, and Hin a
park within a certain distance. Car A is 8km to the
east of Car B, which is 9km north of Car D. Car C
is Skm to the south of Car F, which is 6km to the
west of Car G. Car G is 4km to the north of Car A.
Car E is 8km to the west of Car C. Car H is 2km to
the south of Car E.

If K is parked in middle of G and A then what is
distance between G and K?

1.2 km

2.4 km

3.3 km

4.5 km

S.1 km
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Eight persons Paro, Runa, Sona, Kim,Harry, Ram, Geet and
Monu are going for seven days holiday on different months of
same year i.e. January, February, March, April, May, June, July
and August. All information is not necessarily in same order.
Harry goes in the month of August. Sona goes in the month which
has odd number of days. Geet goes just after the month in which
Sona goes. Three persons goes between Monu and Sona. Runa
goes in the month which has even number of days but not in
February. Two persons goes between Kim and Ram, who does not
go in the month which have odd number of days. Ram does not go
in February. Paro does not go after Kim.

HATS Stk TR, €T, {1, Tohm, 38, T, Ma IR A TH ST a9 &
fafer A Tt e, wat, W, orie, :l%m , TATS 3R
Wﬁmﬁﬁ?ﬁw@a‘rmm@%mw & T ST Tk

A HT T AL 0 A 6 nﬁﬁﬁw%aﬁmwnﬁﬁﬁm%ﬁuﬁ
foraw T w o 2 2) a9 "E A ok dieh a1 AT § s e
AT 1 W 3R T o Siter i s feh STrd gl B971 39 7e A H S0m §
Rroti T2t Ay weaT a0 € SfehT wad § 980 fpg sfR aa s ar
STk ST 2, ST 39 Ha - § Tl Sirar g e ot i s o 2
T Y T T8 ST 2| URY RRE % T A8 ST
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Eight persons Paro, Runa, Sona, Kim,Harry, Ram, Geet and
Monu are going for seven days holiday on different months of
same year i.e. January, February, March, April, May, June, July
and August. All information is not necessarily in same order.
Harry goes in the month of August. Sona goes in the month which
has odd number of days. Geet goes just after the month in which
Sona goes. Three persons goes between Monu and Sona. Runa
goes in the month which has even number of days but not in
February. Two persons goes between Kim and Ram, who does not
g0 in the month which have odd number of days. Ram does not go
in February. Paro does not go after Kim.

Who goes in the month of March?

1. Kim

2. Paro

3. Harry

4. Monu

S. Sona
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Eight persons Paro, Runa, Sona, Kim,Harry, Ram, Geet and
Monu are going for seven days holiday on different months of
same year i.e. January, February, March, April, May, June, July
and August. All information is not necessarily in same order.
Harry goes in the month of August. Sona goes in the month which
has odd number of days. Geet goes just after the month in which
Sona goes. Three persons goes between Monu and Sona. Runa
goes in the month which has even number of days but not in
February. Two persons goes between Kim and Ram, who does not
g0 in the month which have odd number of days. Ram does not go
in February. Paro does not go after Kim.

How many persons goes between Geet and Runa?

1. Three

2. One

3. Four

4. Two

S. Five
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Eight persons Paro, Runa, Sona, Kim,Harry, Ram, Geet and
Monu are going for seven days holiday on different months of
same year i.e. January, February, March, April, May, June, July
and August. All information is not necessarily in same order.
Harry goes in the month of August. Sona goes in the month which
has odd number of days. Geet goes just after the month in which
Sona goes. Three persons goes between Monu and Sona. Runa
goes in the month which has even number of days but not in
February. Two persons goes between Kim and Ram, who does not
g0 in the month which have odd number of days. Ram does not go
in February. Paro does not go after Kim.

In which month Monu goes on holiday?

1. January

2. August

3. June

4. May

S. July
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Eight persons Paro, Runa, Sona, Kim,Harry, Ram, Geet and
Monu are going for seven days holiday on different months of
same year i.e. January, February, March, April, May, June, July
and August. All information is not necessarily in same order.
Harry goes in the month of August. Sona goes in the month which
has odd number of days. Geet goes just after the month in which
Sona goes. Three persons goes between Monu and Sona. Runa
goes in the month which has even number of days but not in
February. Two persons goes between Kim and Ram, who does not
g0 in the month which have odd number of days. Ram does not go
in February. Paro does not go after Kim.

In which month Kim goes on holiday?

1. April

2. July

3. February

4. June

S. May
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Eight persons Paro, Runa, Sona, Kim,Harry, Ram, Geet and
Monu are going for seven days holiday on different months of
same year i.e. January, February, March, April, May, June, July
and August. All information is not necessarily in same order.
Harry goes in the month of August. Sona goes in the month which
has odd number of days. Geet goes just after the month in which
Sona goes. Three persons goes between Monu and Sona. Runa
goes in the month which has even number of days but not in
February. Two persons goes between Kim and Ram, who does not
g0 in the month which have odd number of days. Ram does not go
in February. Paro does not go after Kim.

How many persons go on holiday before Ram?

1. Five

2. Two

3. Four

4. Three

S. One
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483 396 625 834 967

If 2 is added to the last digit of each number and then the
positions of the first and the second digits are
interchanged, which of the following will be the highest
number?

T T GEAT & 3ifaw stk | 2 e foar sio sik fm
U 3T g8 3iek <ht fRarfer suw o geet <t Smg, o
freaferRaa & @ @i o dear ga@ ot gl

1. 396

2. 625

3.967

4. 834

5. 483
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483 396 625 834 967

If in the above set of numbers 1 is added to the last digit
and 2 is subtracted from first digit, then which number
will be third if arranged in descending order?

Afe IURIR HEATSAT o TE W 3ifaw oich ¥ 1 et 7Y 3iR
U 37k | 2 T AT, ﬁmmﬁmﬁ%aﬂﬁm
I | AT A g2

1. 396

2. 625

3.967

4. 834

5. 483
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483 396 625 834 967

If each number is multiplied by 2, then what is the
multiplication of the 1st digit of the lowest and last digit of
the largest number?

Ife Tedeh TEAT <kl 2 © 0T fehaT AT, o Hard Bt HEan
o UE! 2ieh R T St HEAT % AT 3ieh T TUHR
T ET?

1.24

2. 30

3.36

4.28

5. 20



483 396 625 834 967

If each number first and third digits are interchanged,
then how many even numbers are there?

TS Tk HEAT o UgeT TR A6 3ieh hl TTad | 95 far
Y, AT fehat T dwaTd gri?

1.3
2.2
3.4
4.5
S.1

«74 @Reasoningbybasantsir
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Eight persons - A, B, C, D, P, Q, R and S live in a 4-storey building
such as ground floor is numbered as 1 above it numbered as 2 then
top floor is numbered as 4 but not necessarily in the same order.
Each of the floors has two flats in it as flat-1 and flat-2. Flat-1 of
floor 2 is immediately below flat-1 of floor 3 and so on. In the same
way, flat-2 of floor 2 is immediately above flat-2 of floor 1 and
immediately below flat 2 of floor 3 and so on. Flat-1 is to the West
of flat-2. Q lives in an odd-numbered floor but not on floor
number 1. Both R and B live in the same flat number. R and A live
in the same floor. B does not live in flat-2. There is a gap of one
floor between Q and S. Both Q and S do not live in the same flat. R
lives 3 floors above B. C lives immediately below D on the same
flat.

TS STk - A, B, C, D, P, Q, R 3T S Uk 4 G AAT THRA § & &,

S A R UEAT 1 8, 3k 35U 61 T&AT 2 8, o i wiisrer <t
AT 4 T, AR IEA T21 foh 3T | 81| Ueh €1 shHl| Tedeh BT WX
Feie-1 3T Feie-2 o ©U H a1 A 2| HiSTeT 2 Tl FoAe-1, HioTeT 3 6
Wie-1 ok Sieh A 8 AT SET aig| ST ave, HiNTeT 2 hT ¥ete-2 HinTeT
1%@2-2%3"]353!1‘5}@5‘{31%?’ 3 o Wele 2 o ek I § i e
TE| Wele-1, Feie-2 & Iiem o 81 Q %rwmmﬁnﬁmmgn%
S feR UiTer TEaT 1 U1 )| R 31 B ST U ¥ Fedg UaT | T8d 2|
R SﬁTAggﬁﬁﬁW@E_{B FAC-2 ﬁqﬁw%:.‘_g INSH
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Eight persons - A, B, C, D, P, Q, R and S live in a 4-storey building
such as ground floor is numbered as 1 above it numbered as 2 then
top floor is numbered as 4 but not necessarily in the same order.
Each of the floors has two flats in it as flat-1 and flat-2. Flat-1 of
floor 2 is immediately below flat-1 of floor 3 and so on. In the same
way, flat-2 of floor 2 is immediately above flat-2 of floor 1 and
immediately below flat 2 of floor 3 and so on. Flat-1 is to the West
of flat-2. Q lives in an odd-numbered floor but not on floor
number 1. Both R and B live in the same flat number. R and A live
in the same floor. B does not live in flat-2. There is a gap of one
floor between Q and S. Both Q and S do not live in the same flat. R
lives 3 floors above B. C lives immediately below D on the same
flat.

Who among the following lives in flat-2 on the 4th floor?

S G 58
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Eight persons - A, B, C, D, P, Q, R and S live in a 4-storey building
such as ground floor is numbered as 1 above it numbered as 2 then
top floor is numbered as 4 but not necessarily in the same order.
Each of the floors has two flats in it as flat-1 and flat-2. Flat-1 of
floor 2 is immediately below flat-1 of floor 3 and so on. In the same
way, flat-2 of floor 2 is immediately above flat-2 of floor 1 and
immediately below flat 2 of floor 3 and so on. Flat-1 is to the West
of flat-2. Q lives in an odd-numbered floor but not on floor
number 1. Both R and B live in the same flat number. R and A live
in the same floor. B does not live in flat-2. There is a gap of one
floor between Q and S. Both Q and S do not live in the same flat. R
lives 3 floors above B. C lives immediately below D on the same
flat.

Who among the following lives with Q in the same floor?

NA PN =
ApOCO&E~



«74 @Reasoningbybasantsir

Eight persons - A, B, C, D, P, Q, R and S live in a 4-storey building
such as ground floor is numbered as 1 above it numbered as 2 then
top floor is numbered as 4 but not necessarily in the same order.
Each of the floors has two flats in it as flat-1 and flat-2. Flat-1 of
floor 2 is immediately below flat-1 of floor 3 and so on. In the same
way, flat-2 of floor 2 is immediately above flat-2 of floor 1 and
immediately below flat 2 of floor 3 and so on. Flat-1 is to the West
of flat-2. Q lives in an odd-numbered floor but not on floor
number 1. Both R and B live in the same flat number. R and A live
in the same floor. B does not live in flat-2. There is a gap of one
floor between Q and S. Both Q and S do not live in the same flat. R
lives 3 floors above B. C lives immediately below D on the same
flat.

How many floors are there between R and P?

1. One

2. Two

3. Three

4. Four

S. None
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Eight persons - A, B, C, D, P, Q, R and S live in a 4-storey building
such as ground floor is numbered as 1 above it numbered as 2 then
top floor is numbered as 4 but not necessarily in the same order.
Each of the floors has two flats in it as flat-1 and flat-2. Flat-1 of
floor 2 is immediately below flat-1 of floor 3 and so on. In the same
way, flat-2 of floor 2 is immediately above flat-2 of floor 1 and
immediately below flat 2 of floor 3 and so on. Flat-1 is to the West
of flat-2. Q lives in an odd-numbered floor but not on floor
number 1. Both R and B live in the same flat number. R and A live
in the same floor. B does not live in flat-2. There is a gap of one
floor between Q and S. Both Q and S do not live in the same flat. R
lives 3 floors above B. C lives immediately below D on the same
flat.

D lives on which of the following floor and which flat number?

1. Floor 1, Flat-1

2. Floor 2, Flat-2

3. Floor 3, Flat-2

4. Floor 4, Flat-1

S. None of these
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Eight persons - A, B, C, D, P, Q, R and S live in a 4-storey building
such as ground floor is numbered as 1 above it numbered as 2 then
top floor is numbered as 4 but not necessarily in the same order.
Each of the floors has two flats in it as flat-1 and flat-2. Flat-1 of
floor 2 is immediately below flat-1 of floor 3 and so on. In the same
way, flat-2 of floor 2 is immediately above flat-2 of floor 1 and
immediately below flat 2 of floor 3 and so on. Flat-1 is to the West
of flat-2. Q lives in an odd-numbered floor but not on floor
number 1. Both R and B live in the same flat number. R and A live
in the same floor. B does not live in flat-2. There is a gap of one
floor between Q and S. Both Q and S do not live in the same flat. R
lives 3 floors above B. C lives immediately below D on the same
flat.

Four of the following five are alike in a certain way and hence
form a group. Which among the following does not belong to that
group?

1.R

SR PR
RO »n
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Certain number of people are sitting in a linear row
facing towards the north direction. U sits third from one
of the extreme ends but not adjacent to S. Four persons sit
between A and B. Two persons sit between B and E. More
than two persons sit between B and P. Y sits immediate
left of A. Y sits fifth from one of the extreme ends. R sits
third from one of the extreme ends. Nine persons sit
between Y and R. S sits fourth to the left of E. P sits third
to the right of S.

fAfara e & @R 3R four <t ofR 7 whteh e dieft uhw
a3 B U fordft U aﬁwaﬁ?@r?ﬁiﬁwm% AfRT S R
forehe T2 21 A 31 B 3 ofter o suten &3 $1 B 3R E % s
NARF IS 2 BN PR AT A AR AR AS 2l Y, A
o dTeh aTH1 2T 3T 21 FoRelt Uek 3ifaw SR & ui=Eil R
foreft Uk 2ifam SR A iR TIM WAST R1 Y 3R R & sft=r
At <k 93 &1 S, E & 13 AR 1Y AT W gl P, S FH IR
TR e T WX 2
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Certain number of people are sitting in a linear row
facing towards the north direction. U sits third from one
of the extreme ends but not adjacent to S. Four persons sit
between A and B. Two persons sit between B and E. More
than two persons sit between B and P. Y sits immediate
left of A. Y sits fifth from one of the extreme ends. R sits
third from one of the extreme ends. Nine persons sit
between Y and R. S sits fourth to the left of E. P sits third
to the right of S.

How many persons are sitting in the row?

| I

2.16

3.17

4. 18

5.19
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Certain number of people are sitting in a linear row
facing towards the north direction. U sits third from one
of the extreme ends but not adjacent to S. Four persons sit
between A and B. Two persons sit between B and E. More
than two persons sit between B and P. Y sits immediate
left of A. Y sits fifth from one of the extreme ends. R sits
third from one of the extreme ends. Nine persons sit
between Y and R. S sits fourth to the left of E. P sits third
to the right of S.

What is the position of B with respect to Y?

1. Fifth to the right

2. Sixth to the left

3. Fourth to the left

4. Sixth to the right

S. None of these
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Certain number of people are sitting in a linear row
facing towards the north direction. U sits third from one
of the extreme ends but not adjacent to S. Four persons sit
between A and B. Two persons sit between B and E. More
than two persons sit between B and P. Y sits immediate
left of A. Y sits fifth from one of the extreme ends. R sits
third from one of the extreme ends. Nine persons sit
between Y and R. S sits fourth to the left of E. P sits third
to the right of S.

How many persons are there between R and A?

8

1.
Ji
3.10
4.
S.

A\ O == O
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How many meaningful English words can be formed with
the second, fifth, sixth and seventh letters of the word

"PLAGIARISM", using each letter only once in each
word? (To be counted from left)

"PLAGIARISM" 3% & T, qm%r TS AN ATaS T H,
ek Y758 T Teleh STER i heaTeT Ueh AR IS e, feher
YUt ST 3165 FATY ST Hehd §2 (I8 | {1 SITewm)

1. One

2. Two

3. Three

4. Four

5. More than four
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